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Fiber 2351, dchi2frac= 1.0
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data
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model
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Fiber 1355, dchi2frac= 1.0
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Fiber 941, dchi2frac= 1.0
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Fiber 2248, dchi2frac= 1.0
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model
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Fiber 2298, dchi2frac= 1.0
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model
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Fiber 871, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 2464, dchi2frac= 1.0
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data
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model
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Fiber 2907, dchi2frac= 1.0
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model
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5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.40.30.20.10.00.10.2

Fiber 626, dchi2frac= 1.0
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data
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model
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Fiber 2123, dchi2frac= 1.0
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Fiber 2566, dchi2frac= 1.0
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model
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0.20.10.00.10.20.30.40.5

Fiber 2645, dchi2frac= 1.0
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data

1.52.02.53.03.54.04.55.0
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model
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Fiber 643, dchi2frac= 1.0
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model
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Fiber 2541, dchi2frac= 1.0
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data
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model
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Fiber 4416, dchi2frac= 1.0
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Fiber 1087, dchi2frac= 1.0
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data
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model
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Fiber 1419, dchi2frac= 1.0
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Fiber 1067, dchi2frac= 1.0
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1.52.02.53.03.54.04.55.05.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 1391, dchi2frac= 1.0
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data

0.51.01.52.02.53.03.5
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model
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Fiber 4306, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data
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model
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0.30.20.10.00.10.2

Fiber 1495, dchi2frac= 1.0
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Fiber 565, dchi2frac= 1.0
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Fiber 2281, dchi2frac= 1.0
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Fiber 620, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

1 2 3 4 5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 2684, dchi2frac= 1.0
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model
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Fiber 664, dchi2frac= 1.0
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data
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model
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Fiber 4423, dchi2frac= 1.0
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Fiber 814, dchi2frac= 1.0
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Fiber 1206, dchi2frac= 1.0
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Fiber 2896, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data

0.50.00.51.01.52.02.53.0
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model
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Fiber 4464, dchi2frac= 1.0
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Fiber 852, dchi2frac= 1.0
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Fiber 4393, dchi2frac= 1.0
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1.52.02.53.03.54.04.55.05.5
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model

2 3 4 5 6

5 0 5
5.0

2.5

0.0

2.5

5.0
residuals

0.50.40.30.20.10.00.10.2

Fiber 857, dchi2frac= 1.0
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Fiber 4365, dchi2frac= 1.0
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Fiber 2161, dchi2frac= 1.0
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Fiber 2603, dchi2frac= 1.0
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Fiber 2681, dchi2frac= 1.0
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0.00.51.01.52.02.53.03.5

5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 2882, dchi2frac= 1.0
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model
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Fiber 2711, dchi2frac= 1.0
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5 0 5
5.0

2.5

0.0

2.5

5.0
model
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Fiber 791, dchi2frac= 1.0
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model
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Fiber 2135, dchi2frac= 1.0



5 0 5
5.0

2.5

0.0

2.5

5.0
data
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model
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Fiber 2698, dchi2frac= 1.0
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Fiber 4330, dchi2frac= 1.0
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Fiber 4312, dchi2frac= 1.0
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Fiber 4488, dchi2frac= 1.0
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Fiber 1324, dchi2frac= 1.0
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Fiber 538, dchi2frac= 1.0
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Fiber 2714, dchi2frac= 1.0
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Fiber 2723, dchi2frac= 1.0


